
08.03.2022

Move 3

max. 80 kg Zuladung
max. 80 kg additional load
max. 80 kg charge limite

2x 1x 1x  

12x4x 2x14x
M6x10M8 5x164,8x16 4x16M6x40

1 2 3 4 5 6 7

1x 1x 10x 2 x

8

2x

9

2x 8x

11 12 13 14 15

2x

16 17

1x

18

1x 6x

19

22x

20

40x

21

22 23

1x

24

2x 16x

25

2x

26

2x 1x

28

2x

27

1x

29 30

3x

31

3x 28x

32

2x

33

4x 4x

35

8x

34

36 37

2x

38

3x 3x

39

3x 3x 3x

42

6x

41

10

2x

13mm

!

!

11,5mm

43

6x

44

8x

40

53 cm

49 cm

2x

45 46

1x enthalten/
 include

Werkzeuge/ Tools

    1624_dr   1/14

oder / or

A

B



1

1

8

M6x10
2x

12

2x

2

7

9

2x
2x

3

M6x10
6x

12

16

10

10

4

x

x

x

x y y

y y

    1624_dr   2/14



5

13

4,8x16
14x

7
11

     M6x 40
      4x

1x

    1624_dr   3/14

6

46
7

1

2

2

3



8

17

18

6x

9

180°

21

21

19

8x

20

8x

10

1

2

4
3

!

180°

3

23

23

25

25

24

8x

    1624_dr   4/14



12

22

20

19

8x

8x

11

24

8x

26

26

27

49 cm

53 cm

53 cm

13
180°

8x

    1624_dr   5/14



4

1

28

28

36

2

3

15

14

2

14

5x16

1

3

4

    1624_dr   6/14

2

14

5x16

1

2

2

oder / orA B

2 oder / or

A

B

B

!



16
180°1

2

3 11

M6x40
4x

17
12

M6x10
6x

    1624_dr   7/14



18

l.

r.

r.

l.

1 2

2

3

35

8x

19

2930

31

12x

    1624_dr   8/14



20

!

!

4x

l.r.

r.

l.

! !

4x

16x

33 34

33 33 33 33

34

33

31 33

34

34

34 34

34

    1624_dr   9/14

32

32

3232



21

r.

l.

Click

1

2

1

2

Click

Press

l.
5

4

5

6

l. r.

22

3 7

8

    1624_dr   10/14



23

24

2x

4x

3x

4x

44

45

4x

3x

25

41

19

20

20

37

    1624_dr   11/14



26

2x

27

28

!
3x

1

180°
2

3x

3x

2x
!

11,5mm

180°1

43

43

38

39

40

42

    1624_dr   12/14



1

29

30

31

    1624_dr   13/14



32

Beachten Sie die Gebrauchsanweisung vom Bedienpanel.

Follow the instructions for using the control panel.
Important! The table must be reset before the first use.

Important! La table doit être réinitialisée avant la première utilisation.

Wichtig! Der Tisch muss vor der ersten Benutzung resettet werden.

oder/or/ou

 

~230V
4

5

6

15

4x16
2x

3

    1624_dr   14/14

1

2

3

4

5

Kerkmannstrasse 1 · 33729 Bielefeld-Brake
Tel.: ++49 (0)5 21 7 70 05-0
Fax: ++49 (0)5 21 7 70 05-99
www.kerkmann.de
e-mail: info@kerkmann.de


